ENTEROSY RACIONALES

1. Realizalas siguientes operaciones:

a) 20{3-9)-6{5-6)-4(8-9)= i) 26-5010+4{5-6) =

b) -50{-3-2)+2{12-13)-(-9) = j) (-9)s-3)-602-(6-8)#]=

c) 20{38-4+2)-(-15)+(13-8)5 = k) 20-22+50{4-2(5)|+18=

d) (-2-4){-1+3)-(-15-2):(-9+8) = ) [6+20(3-25:5)-[4-3{8-6) =

e 4-32+4M1-7)]+6-(-5)= m) [3+508-9)]-(-6)-[7-4rf15:3-3)| =
f) (-13)f~2+3)-(-8)+15:(-3-2)= n) 20{-3)&{-5):(-6)+2? =

g) 18-3({12-15)+3[{6-4)c(5-9) = 0) 220(-3)2-(6-8)°]+(-4):(-2) =

h) (8-4){5-8):(6-9)-(-2-8)f{10-4) =

2. Realizalas siguientes operaciones:

a) -5+4-2+1)°-60(5-6)"-(-4)(12-9) =

b) (3-4)'-(-2)*+18:(-1-8)-(-4+2)’=

¢ 12-8(]-2-3+(-2)*-3?]- (5-6)°-/9{8-9) =

d) 12:(-6) +(-8-7)[(-3-2+6) - (-3)[(-4) =

e (-40):(-2)° ++/36{6-2B)+(-15): (-3)=

f) (-5 :[L+(-2° U-3)] - 4-10)°=

g) 305-306-2B+24:2)+(-3)°]-(-3-1)'=

h) (-3)d-5)-[4+2°-3* {-2)"1-(-1)°=
-3)° 4~ (-6+80(-5))]-4{-1-3)°=

i) 5-30f12-7)* -[24:(2-/36)]=

k) -12:(- 7+3) (-9-3): (-3) +(-20): (6-7)' =
V124 -(-2) +(-5)] " [( ~(-1)- (+41)]=

m) (5-8) (- 2) ( 4-2):(-3) -[45-(-8)]|-3+2) =

n) @—[34+55:(—13+2)] (13-9m2)f-2+1)° =

0) 2':(-2)° +(-12-18): (-16+33/4)=

p) [(6-19)d-3)]:[-25:(2-(-3)d-9))| =

q) (-5)°: (2° —6)+i/§[ﬂ(—3—1)2 +3/-8]-(-3)' =



) (2-5)":(1-407)-20{V64: (- 4)+1)-(-27): (8" +5°) =
s (-8+6) [u(—9+4+13):(—5+3E2)—(—2)3]—(—9+6[3)[(—6+8):
t) (-2 :[(-8): (-4 -9 (-2 ~[(-18):9+(-3+5)°] =

. Calculay simplifica:
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